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(1) BER 7T A FICE T S

1 ERRBERDEICHRD S

i (RER) PR 4R

RBEER) BEEITH T 5EIE (%)

HETA S | BEES | sEoEH% I &
) 18 ] A
= 1 # 10 470,000 50 0 50
E F T i) 8 470,000 44 9 53
® = ™ & 8 470,000 41 10 51
mE ™ 5] 9 470,000 38 12 50
T & ™ L) 8 470,000 53 11 64
A i\ 7] 9 470,000 49 13 62
m £ ™ & 8 470,000 42 12 54
TiEFKT L) 8 470,000 45 9 54
M A/ + L) 8 470,000 38 10 48
F m ™ i 8 470,000 47 7 54
F £ mh o) 7 470,000 42 11 53
B OF H G 10 470,000 41 6 47
= ¥ F HT L) 8 470,000 41 11 52
H % L) 8 470,000 46 11 57
Z Wl H 7] 8 470,000 39 12 51
i i # 7] 10 470,000 38 10 48
E B M i 8 470,000 43 10 53
= @B M i 8 470,000 45 7 52
A b H L) 5 470,000 44 9 53
X 2 H o) 6 470,000 36 10 46
T & H 3] 7 470,000 41 10 51
X & 5] 4 470,000 52 8 60
Ly o H 7] 8 470,000 44 7 51
= = NIl BT 7] 8 470,000 38 10 48
L & BT 7] 9 470,000 52 14 66
& Nl Hr L) 8 470,000 37 14 51
Mo HT i 8 470,000 40 11 51
¥ IR HT i 10 470,000 42 10 52
A &5 # o) 12 470,000 44 9 53
b= S 3] 10 470,000 52 13 65
q 5+ H 5] 8 470,000 55 0 55
X A H L) 8 470,000 45 7 52
= R # 7] 8 470,000 38 13 51
£ 8 H i 8 470,000 39 9 48
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RBERER) fRZEICxt 9 5EIE (%) oG FE
B = meE | AEE | 9% T LG
wneETsanE WEERLN REHE
(%) (%) (M) (M) (M)

30 20 50 9.56 0 24,000 25,920 12960 %0 T
27 20 47 9.20 42.18 21,300 26,800 13400|Z F
30 19 49 7.00 35.00 21,500 26,500 13250|% =
30 20 50 7.80 28.00 22,000 27,000 13500188 B T
23 13 36 7.57 30.28 19,000 22,600 11,3000 &
24 14 38 6.80 30.00 19,000 23,000 11500178 & T
28 18 46 7.60 33.00 18,000 22,200 11,100|18 £ ™
24 22 46 6.60 28.00 12,000 20,500 10,250| £ 1& ;& K
37 15 52 6.50 26.00 21,000 15,000 7500|m B +
32 14 46 7.10 22.50 23,600 20,500 10250|F ®m ™
33 14 47 6.30 34.00 21,000 15,000 75001F X ™
34 19 53 6.00 35.00 15,000 16,000 8000|% ¥ HT
30 18 48 6.00 38.00 16,500 18,000 9,000|% # #I| HT
31 12 43 6.00 29.00 21,000 17,000 8500|@ ¥ HT
30 19 49 6.80 44.00 18,000 21,000 10500|%Z HE HT
37 15 52 410 27.00 16,000 12,000 6,0000dt JII #F
28 19 47 5.90 45.00 20,000 23,000 11,500 B& #F
32 16 48 6.00 28.00 20,000 21,500 10,750|= # #f
33 14 47 6.00 35.00 19,000 13,000 6,500|A& L HT
38 16 54 5.90 36.00 16,000 10,000 5000|KX £ H
35 14 49 6.00 33.00 21,000 15,000 7500+ & HT
23 17 40 7.70 49.20 16,500 17,900 8,950k JII #F
33 16 49 4.50 14.00 15,000 12,000 6,000]Ly @ HT
29 23 52 5.80 40.00 12,000 15,000 7,500|1= i€ JIl ET
18 16 34 6.29 41.45 8,767 13,659 6,830|# + {& HT
28 21 49 6.20 44.00 17,100 23,100 11,5504 JIl HT
32 17 49 4.30 30.00 15,000 15,000 7,500|# &1 HT
24 24 48 5.90 26.00 12,500 19,700 9,800|#% R HT
34 13 47 6.95 29.00 21,000 14,400 72000 & #
22 13 35 6.20 30.00 14,500 17,000 85002 ¥ H
27 18 45 7.10 0 12,500 15,800 7,900|®m & + HT
30 18 48 7.00 28.00 14,000 16,800 8400l X A H
29 20 49 415 23.50 9,000 12,000 6,000|1= & #
31 21 52 4.50 22.00 12,500 14,500 7250|2 @ HT
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(MRGEFICEITLSA 0 ROASHEXESEFRRER EICRLS

RBERER) g3t 5EIE (%)
HAHE | BERS | sEomy |T e RER woRe A
() FTiREIfREE | EERIRE S
= 1 # 10 120,000 50 0 50
E F T o) 8 120,000 32 13 45
® = ™ & 8 120,000 47 12 59
mE ™ 5] 9 120,000 39 17 56
T & ™ L) 8 120,000 51 11 62
A i\ 7] 9 120,000 53 14 67
m £ ™ & 8 120,000 44 15 59
TiEFKT L) 8 120,000 42 11 53
B +m L) 8 120,000 39 10 49
F m ™ i 8 120,000 47 8 55
F £ mh o) 7 120,000 44 7 51
B OF H (i 10 120,000 39 7 46
= ¥ F HT L) 8 120,000 40 11 51
B % Hr L) 8 120,000 49 7 56
Z Wl H 7] 8 120,000 46 10 56
i i # 7] 10 120,000 38 11 49
E B M i 8 120,000 39 8 47
= ’m # i 8 120,000 53 9 62
A b H L) 5 120,000 43 9 52
X 2 H o) 6 120,000 36 10 46
T & H 3] 7 120,000 42 10 52
X & 5] 4 120,000 56 8 64
Ly o H 7] 8 120,000 45 7 52
= = NIl BT 7] 8 120,000 40 13 53
L & BT 7] 9 120,000 59 0 59
& Nl Hr L) 8 120,000 55 22 77
Mo HT i 8 120,000 41 9 50
¥ IR HT i 10 120,000 37 15 52
A & # (i 12 120,000 42 11 53
b= S L) 10 120,000 43 8 51
B+ H 5] 8 120,000 55 0 55
X A H L) 8 120,000 43 7 50
= R # 7] 8 120,000 38 13 51
£ 8 H i 8 120,000 40 9 49
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ERT(ERER) #eg8I2xt 9 5 & (%) o) FE
it = — e HETH %
1% E148 T H BI04 RRERL REHS
() (M) (M)

30 20 50 6,000 6,600 3300l #0 ™
45 10 55 5,700 2,200 1,100|1Z2 F W
28 13 41 5,000 4,500 2250|% = T
30 14 44 2,000 2,000 100|F8 E W
24 14 38 6,000 7,400 3700| & ™™
21 12 33 6,000 7,000 3500|128 B Th
25 16 41 3,000 3,800 1900|178 £ ™™
34 13 47 6,000 4,500 2,250| L1k F KT
36 15 51 5,700 4,200 2,100 5 +
28 17 45 6,400 7,500 3750|1F ®m ™
31 18 49 6,000 6,000 3000|F = ™
33 21 54 5,000 6,000 3000\ ¥ HT
31 18 49 5,500 6,000 3,000|% #F #F| HT
30 14 44 6,000 6,000 3000|@ ¥ HT
24 20 44 4,000 6,000 3000|1% H H
37 14 51 7,000 5,000 250004t Jil #F
31 22 53 5,000 6,000 300018 R% #
26 12 38 6,000 6,000 3000|= # #¢
33 15 48 8,000 6,000 3000\ & i HT
38 16 54 7,600 4,800 2400k 2 H
35 13 48 6,800 4,600 2,300|+ & HT
21 15 36 2,000 2,100 1,050]K JIl #t
32 16 48 8,500 7,000 3,500[Ly > HT
32 15 47 4,000 3,000 1,50001= & JIl BT
4 0 41 6,492 0 ol L {k& BT
15 8 23 1,500 1,500 75001 JIl HT
33 17 50 7,500 7,000 3500|# %1 HT
26 22 48 4,900 6,900 3400|#% & HT
33 14 47 6,300 4,800 2400|1H & #
34 15 49 4,500 4,000 20002 % HT
27 18 45 5,000 6,300 3,150|® & + HT
31 19 50 6,000 7,200 3600|X A H
29 20 49 6,000 8,000 4000|1= & #
30 21 51 5,100 6,000 3000|2 & H




(1) RGEFICE T SHH

/N PR RERTBRGHERERIC RS D

ARBEHER) BEEITH I 5E1E (%)

HAHE | BERS | sEomy |T e RER B f @
() FTiREIfREE | EERIRE
= 1 # 10 100,000 50 0 50
E F T o) 8 100,000 42 6 48
® = ™ & 8 100,000 44 8 52
mE ™ i 9 100,000 31 15 46
T & ™ L) 8 100,000 48 11 59
A i\ 7] 9 100,000 48 10 58
m £ ™ & 8 100,000 47 9 56
TiEFKT L) 8 100,000 32 9 41
B +m L) 8 100,000 38 10 48
F m ™ i 8 100,000 41 10 51
F £ mh o) 7 100,000 47 6 53
B OF H 3] 10 100,000 32 0 32
= ¥ F HT (i 8 100,000 49 0 49
B % Hr L) 8 100,000 56 0 56
Z Wl H 7] 8 100,000 24 0 24
i i # 7] 10 100,000 47 0 47
E B M i 8 100,000 47 0 47
= ’m # i 8 100,000 42 3 45
A b H L) 5 100,000 47 5 52
X 2 H 7] 6 100,000 29 3 32
T & H 3] 7 100,000 45 9 54
X & i) 4 100,000 40 5 45
Ly o H 7] 8 100,000 39 8 47
= = NIl BT 7] 8 100,000 38 6 44
L & BT 7] 9 100,000 45 11 56
& Nl Hr L) 8 100,000 32 15 47
Mo HT i 8 100,000 38 10 48
¥ IR HT L) 10 100,000 41 6 47
A & # (i 12 100,000 43 10 53
b= S 3] 10 100,000 37 21 58
B+ H 5] 8 100,000 49 0 49
X A H L) 8 100,000 45 8 53
= R # 7] 8 100,000 39 8 47
£ 8 H i 8 100,000 39 9 48
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RBERER) fRZEICxt 9 5EIE (%) oG FE
v = @ sl | Ams | wsm | Tea | TUHE
HEDNHEE | THIREE (%) (%) ) )
30 20 50 2.64 0 7,800 6480l %1 ™
33 19 52 2.20 7.53 7,700 5800|Z F ™
32 16 48 1.60 7.00 6,800 440012 = T
35 19 54 1.40 6.90 6,900 49008 B T
28 13 41 1.60 7.50 6,800 43001 f& T
27 15 42 2.00 7.00 7,700 5600|128 W T
27 17 44 1.60 4.50 4,300 3500|178 £ T
41 18 59 1.06 5.80 5,900 3400| L1k F KT
36 16 52 2.50 10.00 9,000 5000 75 + T
27 22 49 1.30 6.10 5,300 5800|1F% @ ™
28 19 47 2.00 6.00 7,000 6000|F =% ™
68 0 68 1.10 0 10,000 Ol F Hr
51 0 51 1.40 0 7,000 0| # 7 Hr
44 0 44 2.00 0 10,000 ol % Hr
76 0 76 1.00 0 15,600 ol B Hr
53 0 53 1.40 0 7,000 ojdt NIl #t
53 0 53 1.30 0 8,400 ol B #
32 23 55 1.80 3.00 8,000 8000|= @& #
29 19 48 2.50 10.00 9,000 7,000| & 14 HT
34 34 68 1.50 5.00 5,000 6,000|Kk 2 H
30 16 46 1.60 9.00 6,000 40001+ f{& HT
34 21 55 0.90 12.00 3,700 2,800k Il #F
30 23 53 2.00 7.50 7,000 6,500[Ly @ HT
36 20 56 2.00 10.00 7,500 5,200|1= i€ JIl HT
29 15 44 0.90 6.45 3,401 2,287|% t 1k HT
30 23 53 0.74 7.50 3,300 3,1004x JIl HT
36 16 52 2.50 17.00 11,000 6,000|#% %1 HT
27 26 53 1.00 4.00 3,800 4400|148 & HT
33 14 47 2.50 12.00 8,400 4500|1H & #
27 15 42 1.00 14.00 5,400 4000;F %5 HT
35 16 51 2.60 0 8,000 5000\ 5 + HT
25 22 47 1.43 7.16 3,100 3600|X H H
24 29 53 0.97 3.80 2,000 3000|1= ® #F
30 22 52 1.50 7.50 5,000 450012 # Hr
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(2) MAZ DR RFFER22F 3831 HIRTAE)

4 ERERBERDEITHRD S

HETA DAKR ho A = D 7N i
H G #
mEHE | # F A 0O — R RIRIRE BEWEKR| & &t
— SRR | e AEFHL | ©+D)
(A) (B) U s (D) (E)

5 M h 158,320 339,714 47,387 1,115 48,502 3,099 51,601
= F M 8,310 16,611 3414 39 3,453 234 3,687
Z E= 8,887 19,939 3,861 95 3,956 186 4,142
mE h 21,163 49,405 6,882 221 7,103 447 7,550
T & 11,994 29,153 4,788 129 4917 223 5,140
A B 11,064 25,089 4,225 93 4,318 204 4522
B £ H 10,188 23,103 4,437 115 4,552 167 4,719
TiEFKT 8,115 16,621 3473 83 3,556 215 3,771
B+ 16,152 36,351 6,042 213 6,255 417 6,672
E M T 14,245 34,411 5,048 172 5,220 345 5,565
F E H 12,699 28,276 4,730 147 4,877 325 5,202
B O H 1,631 3171 732 12 744 32 776
= ¥ 7 HT 1,780 3,692 683 17 700 30 730
H % 1,331 3,044 573 10 583 29 612
= | M 1,354 3,127 640 9 649 29 678
i i # 659 1,486 258 7 265 25 290
E B M 467 1,040 167 6 173 11 184
= B # 1,716 4,039 796 12 808 58 866
A W4 H 1918 3,977 647 18 665 36 701
X 2 @ 2,634 5,007 952 14 966 22 988
T & H 2,040 4,466 701 22 723 35 758
X o # 241 468 64 0 64 8 72
Ly o HT 11,090 26,581 3,766 159 3,925 284 4,209
= = Nl HT 3,413 6,956 1212 43 1,255 78 1,333
h t {& HT 3,599 8,115 1,387 46 1,433 121 1,554
& )l HT 6,215 14,261 2,215 79 2,294 182 2,476
#MO® HT 3,034 6,662 1,119 27 1,146 68 1214
¥ R OEH 1,784 3,931 692 31 723 31 754
H & # 2,486 5,774 874 28 902 53 955
OB T 2,757 6,782 1,191 27 1,218 41 1,259
B+ H 8,779 19,767 3,621 127 3,748 216 3,964
X B H 2,888 6,299 1,305 41 1,346 69 1,415
= & # 796 1,793 355 3 358 12 370
£ ¥ 5,769 13,213 2,434 114 2,548 212 2,760
m it 281,137 618,673 94,287 2,422 96,709 5,862 102,571
i S S - 68,381 153,651 26,384 852 27,236 1,682 28,918
a8 Hi 349,518 772,324 120,671 3,274 123,945 7,544 131,489

89




ho A = ) 7N B
51 ® & ) #
H T | —IBEEE EHBERIRE FH =1 ilIESES
EHEEH | & ¥ | Emwmr I B (F)+(G)
(F) = % (G) (H)

8,146 78,548 4,457 1,369 5,826 843745 %1 T
523 5,768 281 143 424 6192| B
646 7,251 299 70 369 7620|1% = ™

1,448 12,272 708 201 909 13181lF@ E T
896 9,156 367 125 492 9648| £ {& ™™
763 7,808 318 104 422 8230|122 & TH
732 8,223 298 56 354 8577|1%8 £ T
610 6,062 308 131 439 6,501| L {& B K

1,138 10,599 690 188 878 147718 7B +
989 9,436 555 175 730 10166|F B T
986 8,098 493 157 650 8748|F% = ™
120 1,268 44 17 61 1320|358 ¥ HT
134 1,199 48 8 56 1,255|% 2 F HT
190 983 42 14 56 1039|H ¥ H
153 1,193 38 11 49 1242|% H H

71 427 33 13 46 47314t 1 &
46 249 20 1 21 270| B #
137 1,631 74 21 95 1,726/ = 7 #t
159 981 55 14 69 1050|A& U HT
240 1,366 38 9 47 1413k £ Hr
140 1,139 62 19 81 12200 {& HT
15 93 9 1 10 103k JII #F
851 6,467 467 131 598 7065|Ly > HT
316 1,981 124 32 156 2,1371= & )1l HT
282 2,445 175 71 246 2691|ch £ {& H
457 3,814 279 83 362 41764 Il HT
237 1,943 97 40 137 2,080|#% %0 HT
158 1,139 67 10 77 1216|148 R HT
194 1,457 85 25 110 1567|H & #
268 2,137 70 22 92 2229 H5 HT
680 6,527 365 108 473 7,000|9 A/ + HT
241 2,442 115 28 143 2585\ Kk H HT
71 634 15 5 20 654|= [R® #
444 4,382 354 119 473 4855|82 # HT
16,877 163,221 8,774 2,719 11,493 174,714 | H
5,604 45,897 2,676 802 3478 49375 |BT #t &
22,481 209,118 11,450 3,521 14,971 224,089 | & i
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(2) MAZ DR RFFER22F 3831 HIRTAE)

0 RESHEXERFRN QR #ITRLID

METH DK R T EMmTEFRHB @B
LS G 3
mEHE | # F # A O —RRRIRE T BRE®ER| & &
— BRI | oy | 0 BEFEH | 0+
(A) (B) EEy [T M ) (K)
= ®M T 158,320 339,714 47,387 1,115 48,502 3,099 51,601
E B T 8,310 16,611 3414 39 3,453 234 3,687
2 E=E M 8,887 19,939 3,861 95 3,956 186 4,142
B E 21,163 49,405 6,882 221 7,103 447 7,550
T & ™ 11,994 29,153 4,788 129 4917 223 5,140
A B TH 11,064 25,089 4,225 93 4318 204 4522
m £ ™ 10,188 23,103 4,437 115 4,552 167 4,719
TiEEKT 8,115 16,621 3,473 83 3,556 215 3,771
B+ 16,152 36,351 6,042 213 6,255 417 6,672
E B h 14,245 34,411 5,048 172 5,220 345 5,565
F X T 12,699 28,276 4,730 147 4,877 325 5,202
B O H 1,631 3171 732 12 744 32 776
= ¥ A OET 1,780 3,692 683 17 700 30 730
H % 1,331 3,044 573 10 583 29 612
Z B H 1,354 3,127 640 9 649 29 678
&l # 659 1,486 258 7 265 25 290
E K # 467 1,040 167 6 173 11 184
= ’m # 1,716 4,039 796 12 808 58 866
A b H 1918 3,977 647 18 665 36 701
X 2 H 2,634 5,007 952 14 966 22 088
T {& H 2,040 4,466 701 22 723 35 758
X & 241 468 64 0 64 8 72
Ly o H 11,090 26,581 3,766 159 3,925 284 4,209
= & Il BT 3413 6,956 1,212 43 1,255 78 1,333
f t {£ H 3,599 8,115 1,387 46 1,433 121 1,554
£ NI HT 6,215 14,261 2,215 79 2,294 182 2,476
Mo HT 3,034 6,662 1,119 27 1,146 68 1,214
¥ R H 1,784 3,931 692 31 723 31 754
A 5 # 2,486 5,774 874 28 902 53 955
OB OHT 2,757 6,782 1,191 27 1,218 41 1,259
N 5+ HT 8,779 19,767 3,621 127 3,748 216 3,964
X B H 2,888 6,299 1,305 41 1,346 69 1,415
= R # 796 1,793 355 3 358 12 370
£ 8 H 5,769 13,213 2,434 114 2,548 212 2,760
m it 254,193 555,986 94,287 2,422 96,709 5,862 102,571
BT & & 95,325 216,338 26,384 852 27,236 1,682 28,918
a8 &t 349,518 772,324 120,671 3274 123,945 7,544 131,489
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(B, N)

WEREEOKR

wm B’ K O F #M
— IR E BRI B QEESES
8 FY (L) + (M)
(L) (M) (N)

78,548 5,826 84374l #® T
5,768 424 6192|F2 F T
7,251 369 7620|% = T

12,272 909 13181|F E T
9,156 492 9648 k& ™
7,808 422 8230’8 B ™
8,223 354 8577178 £ ™
6,062 439 6,501| L 1&F K™

10,599 878 11477|@ 7 +
9,436 730 10,166]F ® ™
8,098 650 8748|F = ™
1,268 61 1,329 ¥ HT
1,199 56 1,255|% # F| HT

983 56 1,039|H %5 HT
1,193 49 1242|1% H H
427 46 473|146 Nl
249 21 270|% B& #
1,631 95 1,726 = @ #
981 69 1,050|A& [ HT
1,366 47 1413k 2 H
1,139 81 1,220l 1& HT
93 10 103X NI #t
6,467 598 7,065|Ly > HT
1,981 156 2,1374= = JIl ET
2,445 246 2,691|% t {k& HT
3814 362 4176[4& Il HT
1,943 137 2,080|#% %0 HT
1,139 77 1,216|8% & HT
1,457 110 1567|B & #
2,137 92 2229 % HT
6,527 473 7,000 5 + HT
2,442 143 2585\ K A H
634 20 654|]= " #F
4,382 473 4855|2 & Hr
163,221 11,493 174,714 | H
45,897 3478 49375 |BT #t §
209,118 14,971 224,089 | & H
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(2) MAZ DR RFFER22F 3831 HIRTAE)

/N PR RIRBGHREEICR DS

MHETH DK IR T EMMS £ R B G BR
H G 3
mEHE |# & & A O — R RIRIRE BRE®EER| & &
—IRHRIRIR | e CLLEN ORRE)
(A) (B) Etgy |TOERR () (K)
= ®M T 158,320 339,714 21,674 333 22,007 3,940 25,947
E B T 8,310 16,611 1,780 8 1,788 262 2,050
2 E=E M 8,887 19,939 2,211 35 2,246 235 2,481
B E 21,163 49,405 3,320 46 3,366 611 3977
T & ™ 11,994 29,153 2,592 42 2,634 304 2,938
A B TH 11,064 25,089 2,193 26 2,219 266 2,485
m £ ™ 10,188 23,103 2,608 53 2,661 173 2,834
TiEEKT 8,115 16,621 1,705 20 1,725 275 2,000
B+ 16,152 36,351 3,112 76 3,188 493 3,681
E B h 14,245 34,411 2,521 53 2,574 457 3,031
F X T 12,699 28,276 2,171 46 2,217 418 2,635
B O H 1,631 3171 388 4 392 40 432
= ¥ A OET 1,780 3,692 358 6 364 41 405
H % 1,331 3,044 308 2 310 38 348
Z B H 1,354 3,127 362 3 365 35 400
&l # 659 1,486 119 3 122 29 151
E B M 467 1,040 60 2 62 15 77
= ’m # 1,716 4,039 461 2 463 68 531
A b H 1,918 3,977 274 3 277 50 327
X =2 H 2,634 5,007 387 4 391 32 423
T & H 2,040 4,466 323 2 325 54 379
X o# 241 468 25 0 25 8 33
Ly o H 11,090 26,581 1,708 46 1,754 386 2,140
= & ) HT 3413 6,956 470 14 484 104 588
h + {k& HT 3,599 8,115 722 9 731 157 888
£ NI HT 6,215 14,261 1,083 8 1,091 249 1,340
Mo HT 3,034 6,662 536 0 536 94 630
¥ R H 1,784 3,931 322 8 330 53 383
A 5 # 2,486 5774 429 7 436 74 510
b= S 2,757 6,782 618 6 624 59 683
N 5+ HT 8,779 19,767 1,904 32 1,936 311 2,247
X B H 2,888 6,299 761 12 773 96 869
= R # 796 1,793 207 1 208 13 221
£ 8 H 5,769 13,213 1,293 37 1,330 284 1,614
m it 254,193 555,986 45,887 738 46,625 7,434 54,059
BT & & 95,325 216,338 13,118 211 13,329 2,290 15,619
a8 H 349,518 772,324 59,005 949 59,954 9,724 69,678
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(B, N)

WREEOKR
wm B’ K O F #M
—iRIE RRmERRE|  BFf QEESES
EZH EFH (L) + (M)
(L) (M) (N)

26,539 5,565 32,104l %1 ™
2,257 391 2648|Z2 F ™
2,969 335 3304/ =
4,267 844 5111|F8 B
3,461 445 3906 f& T
2,905 388 3293|’E B ™™
3,347 347 36948 £ ™
2,150 403 2,553| L 1&EF K™
4,064 739 4803|118 7 +
3,338 665 4003|F ™ ™
2,769 589 3358|F = T

517 59 576|3 ¥ HT
462 54 516|% F #| HT
387 51 438|H ¥ H
476 46 522|% H Hr
154 42 196(dt  JiI &t
68 21 89|F K W
640 91 = wB M
330 62 392| K Wy HT
445 45 490|Xk = W
399 74 473| {& HT
29 10 XI*] b N [ =
2,137 552 2,689|Ly O HT
596 143 739|1= = )1l HT
916 222 1,138|5h L 1% HT
1,319 334 16534 Il HT
673 120 793|#% %0 HT
391 74 465|8% R HT
532 98 630|8 = #t
791 83 874|i# ¥ HT
2,477 455 2,932|m™ H + HT
1,025 133 1,158| Kk A Hr
254 20 2714|1= = #
1,683 427 2110|2 & Hr

58,066 10,711 68,777 |t B

16,701 3216 19917 |BT #F §

74,767 13,927 88,694 | & B
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